EPEP]
P

Y eco
@j PASS

PORT. shager

Product Environmental Profile
Room controller KNX Secure, TFT, bus coupler, A.x/C.x, light white, matt

Company information References covered

Hager For the complete list of the covered references, see details in Appendix 1.

132 Boulevard d’Europe
F 67215 Obernai Cedex
www.hagergroup.com

A question concerning the Product Environmental Profile: info@hager.com

Methodology

PEP has been performed according to the PCR version PEP-PCR-ed4-2021 09 06 and PSR version PSR-0005-ed3.1-2023 12 08 issued by the PEP ecopassport program.
For further information, please see the website of the program www.pep-ecopassport.org

Reference product

Reference product identification Measure and control the ambient temperature set by the user in a range of -5° to 45° in a zone and control
WAK5010WM room functions, such as dimming lights and controlling blinds, according to the appropriate use scenario,
and for the reference service life of the product of 10 years.'

Use scenario based on :
PSR product Category : PSR-0005-ed3.1-2023 12 08 The functional unit is based on the use scenario recommended by the PCR for the category of the reference
3.15. Other equippment - active product product.

PEP ecopassport 1/5 HAGE-01472-V01.01-EN



Materials and substances

All useful measures have been adopted to ensure that the materials used in the composition of the product do not contain any substances banned by the legislation in force at the time of marketing.

Plastics Metals Others
] % 9 % ] %

PC 16.91 17.0% Stainless steel 25.81 26.0% Cardboard 31.44 31.7%
PMMA 2.30 2.3% Copper 2.59 2.6% Paper 5.81 5.9%
Epoxy resin 1.17 1.2% Steel 1.61 1.6% Wood 2.36 2.4%
PE-LD 0.87 0.9% Cast iron 0.39 0.4% Glass fiber 1.64 1.7%
PAB6 0.32 0.3% Tin 0.39 0.4% Glass 1.09 1.1%

Other 0.76 0.8% Other Other

Total mass of reference product with raw material 99.29
packaging : =99
Total mass of reference product

(Product + packaging) 94549

System Boundaries

The environmental information included in the PEP covers all the stages of the life cycle, from "cradle to grave".

Manufacturing End of life Module D

(=)
c
o ° 1
o =) o 23 2
s 2 - - " £ £ 2| 8¢ s
= =
2 8 S S S 3B 3 3 o c5 I
22| 3 > g B 5% 2 o | £s %3
£c c c 298 52 o= o b4 c £8 EZJ S o @ o 2 38
£ T = = @ = h o ] 5 c e 2 2 = £ - = — =2
@» 5 Q c Q © c = 2 o 8 o 8 = = » © © o £
o £ 2 S o S 0 o £ © = £ = S ® © @
=98 3] =2 22 =35 c 8 @ o Eo = = 28 z > <] S8
s8] 2 £ 3% 8% g3 8 53 g S £3 | 238 b g5 | 52 % PR
o5 = 5 = T o © B c o =z ? E=] 5 5 2 c S 3 7] 22
= ) c = 0 Prie) = O T =3 o) =3 = s 2 = 0 a b=
T35 = 5] 23] Iz} 5 L Q 4 o Q ge o] ] S o o o
Eg £ = 035 £3 o = 14 ] 2 o =g g= S <
= = ® ® @ 2 > 5 s = o m o
T @ < < S5 & = 2 o T 0 2
x < = = 2 c £ o 3 S
[ i = == oy
= 2 -°
k<

B3 B4

Life cycle stages

Manufacturing Distribution

These products are manufactured by a site that has received an environmental certification The packaging has been designed in accordance with current regulations. In particular,
ISO 14001. the European directive 94/62/CE relative to packaging and packaging waste.

This phase takes into account raw materials, manufacturing processes, production offcuts The used packaging is 100% recyclable or recoverable.

and their end-of-life treatment, upstream transport of materials and sub-assemblies to the Packaging and logistic flows are continuously improved in order to reduce their impact.

manufacturing site, and transport from the manufacturing site to the final logistics platform.
This phase taken into account the transport of the finished product, including
packaging, to its place of use.

Installation
Installation processes
The processes to install the product are not considered in this study because of their weak impact compared to the other life cycles steps.
This phase only take into account the impact of the packaging waste treatment.

Installation elements (non delivered with the product)
Elements non delivered with the product and needed to install the product are not considered.

Power loss / load dependent Power consumption / not load dependent
Active mode Inactive mode Active Sleep phase Passive Sleep phase Turn off phase
Watt % of time Watt % of time Watt % of time Watt % of time Watt % of time
0 0.0% 0 100.0% 0.42 10.0% 0.15 90.0% 0 0.0%

This corresponds to a total energy consumption of 15.51 kWh for the use span of 10 years.

Energy model of the use phase :
Europe

[of and mair
None

PEP ecopassport 2/5 HAGE-01472-V01.01-EN



End of life

Considering the complexity of the recycling channels for electric and electronic equipment impacts, we rely mainely on ESR modules (datasets for WEEE product end of life).

The recycling potential of the product is: 50%. The calculation of this rate is based on the method of the IEC/TR 62635.

Environmental impacts

Evaluation of the environmental impact covers the following life cycle stages: raw materials + manufacturing (RMM), distribution (D), installation (1), use (U) and end of life (EoL).

All calculations are done with EIME software version 6.3.3-9 with the database version CODDE-2025-04 .
Indicators set : Indicators for PEF EF 3.1 (Compliance: PEP ed.4, EN15804+A2) v2.0

PEP representative of the covered products marketed in: Europe

Energy models considered for each phase

Manufacturing Distribution Installation End Of Life

A1-A3 A4 A5 C1-C4
Europe Europe Europe Europe

Environmental impact indicators

. . Manufacturing Distribution Installation (VET:Y End Of Life

Indicators Unit ALA3 Al | A5 | B1B7 | c1-ca | GLOBAL | Module D
Acidification (PEF-AP) mole H+ eq. 9.72E-03 2.45E-05 1.16E-04 2.14E-02 5.33E-04 3.18E-02 -1.41E-03
Climate change - Total (PEF-GWP) kg CO2 eq. 2.09E+00 1.57E-02 9.46E-02 3.62E+00 1.23E-01 5.94E+00 -1.40E-01
Climate change-Biogenic (PEF-GWPb) kg CO2 eq. -4.33E-02 2.58E-05 5.75E-02 1.42E-01 5.42E-03 1.61E-01 -4.41E-03
Climate change-Fossil (PEF-GWPT) kg CO2 eq. 2.13E+00 1.57E-02 3.71E-02 3.48E+00 1.17E-01 5.78E+00 -1.35E-01
Climate change-Land use and land use change 2E-10 2 52E-0 0.00E+00
(PEF-GWPIu) kg CO2 eq. 2.50E-05 2.37E-08 3.86E-10 1.21E-07 4.32E- .52E-05 .
Ecotoxicity, freshwater (PEF-CTUe) CTUe 1.42E+01 4.49E-01 5.45E-01 7.09E+00 1.72E+00 2.40E+01 -5.39E-01
EF-particulate Matter (PEF-PM) '”g;::;‘scee:f 9.03E-08 2.11E-10 6.82E-10 1.87E-07 5.27E-09 2.84E-07 -1.04E-08
Eutrophication, freshwater (PEF-Epf) kg P eq. 8.39E-06 5.85E-08 5.33E-07 1.65E-05 2.43E-06 2.79E-05 -7.75E-05
Eutrophication, marine (PEF-Epm) kg N eq. 1.11E-03 4.46E-06 4.90E-05 2.16E-03 1.24E-04 3.45E-03 -1.30E-04
Eutrophication, terrestrial (PEF-Ept) mole of N eq. 1.22E-02 4.90E-05 3.57E-04 4.17E-02 8.50E-04 5.52E-02 -1.53E-03
Human toxicity, cancer (PEF-CTUh-c) CTUh 2.60E-07 3.04E-12 4.23E-09 4.85E-09 1.03E-08 2.80E-07 -1.63E-09
Human toxicity, non-cancer (PEF-CTUh-nc) CTUh 4.41E-08 5.80E-11 1.18E-10 1.62E-08 3.47E-09 6.39E-08 -1.11E-08
lonising radiation, human health (PEF-IR) kg Bg U235 eq. 1.97E+00 5.49E-04 6.15E-03 8.74E+00 4.40E-03 1.07E+01 -2.61E-03
Land use (PEF-LU) No dimension 2.39E-01 1.03E-04 3.78E-03 5.78E+00 1.95E-01 6.22E+00 -2.42E+00
Ozone depletion (PEF-ODP) kg CFC-11 eq. 3.19E-07 1.82E-10 5.76E-10 3.43E-08 7.52E-09 3.62E-07 -5.18E-09
f’;;;‘f;@:g;j“ ozone formation - human health |\ ¢ NMYOC eg. 3.71E-03 1.58E-05 8.09E-05 6.94E-03 2.50E-04 1.10E-02 -4.95E-04
Resource use, fossils (PEF-ADPf) MJ 2.46E+01 2.78E-01 3.81E-01 1.15E+02 1.16E+00 1.42E+02 -1.20E+00
R (I EDATIGEED 2.95E-04 5.68E-09 9.19E-09 1.29E-05 6.56E-07 3.09E-04 -5.14E-06
(PEF-ADPe)
Water use (PEF-WU) 8.02E-01 5.75E-04 3.24E-03 2.29E-01 5.34E+01 5.44E+01 -1.09E+02
Resource use indicators

n Manufacturing Distribution Installation Use End Of Life

Indicators A1-A3 Ad | A5 | B1-B7 | c1-ca | GLOBAL | Module D
Net use of fresh water 1.87E-02 1.34E-05 2.54E-04 5.54E-03 1.30E+00 1.32E+00 -2.55E+00
Total primary energy 2.81E+01 2.80E-01 4.62E-01 1.91E+02 1.33E+00 2.22E+02 -1.77E+00
Total non renewable primary energy 2.46E+01 2.78E-01 3.81E-01 1.15E+02 1.16E+00 1.42E+02 -1.20E+00
Total renewable primary energy 3.44E+00 1.14E-03 8.11E-02 7.62E+01 1.64E-01 7.98E+01 -5.74E-01
Non renewable primary energy used as energy 2.39E+01 2.78E-01 3.81E-01 1.15E+02 1.16E+00 1.41E+02 -1.20E+00
L D LRSI 7.81E-01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 7.81E-01 0.00E+00
Use of non renewable secondary fuels 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Renewable primary energy used as energy 2.74E+00 1.14E-03 8.11E-02 7.62E+01 1.64E-01 7.91E+01 -5.74E-01
Renewable primary energy used as raw material 7.02E-01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 7.02E-01 0.00E+00
Use of renewable secondary fuels 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Use of secondary material 2.69E-04 0.00E+00 0.00E+00 0.00E+00 0.00E+00 2.69E-04 0.00E+00

PEP ecopassport 3/5 HAGE-01472-V01.01-EN



Waste category indicators

Manufacturing Distribution Installation End Of Life

A1-A3 A4 A5 Cc1-C4
Hazardous waste disposed 6.28E+00 6.61E-05 2.34E-03 2.09E-01 1.35E-02 6.50E+00 0.00E+00
Non hazardous waste disposed 4.96E-01 1.45E-03 1.09E-02 6.40E-01 1.63E-04 1.15E+00 0.00E+00
Radioactive waste disposed 1.08E-04 1.15E-06 2.50E-06 1.64E-04 8.17E-08 2.76E-04 0.00E+00

Indicators GLOBAL

Output flow indicators

Installation End Of Life
A1-A3 A4 A5 B1-B7 Cc1-C4

Components for re-use 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Exported energy 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00

Manufacturing Distribution

Indicators GLOBAL

Materials for energy recovery 1.03E-03 0.00E+00 3.62E-03 0.00E+00 0.00E+00 4.65E-03 0.00E+00

Materials for recycling 1.05E-02 2.66E-12 2.94E-02 4.15E-07 1.92E-11 3.99E-02 0.00E+00

Biogenic carbon content

Packaging Cardboard

Biogenic carbon content (ratio) 2.80E+01 3.78E+01 3.95E+01
3.14E-02 6.81E-03 2.36E-03 4.06E-02
Biogenic carbon content (declared unit) 8.80E-03 2.57E-03 9.34E-04 1.23E-02
Biogenic carbon content (functional unit) 8.80E-03 2.57E-03 9.34E-04 1.23E-02

ADEME APESA/RECORD EN 16485

Prod abo d Pape ood

a g 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Bioge arbon content (declared go 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Bioge arbon conte ona go 0.00E+00 0.00E+00 0.00E+00 0.00E+00

Extrapolation rules

For each reference in this homogeneous family (see Appendix), the environmental impacts for each phase and indicator are derived from life-cycle analysis (LCA).

Verification

o Drafting Rules PEP-PCR-ed4-2021 09 06
Registration N°:  HAGE-01472-V01.01-EN
Supplemented by PSR-0005-ed3.1-2023 12 08
Verifier accreditation N°:  VH63 Information and reference documents: www.pep-ecopassport.org
Date of issue: 2-2026 Validity period: 5 years

Independent verification of the declaration and data, in compliance with ISO 14025 : 2006

Internal  External o

The PCR review was conducted by a panel of experts chaired by Julie Orgelet (DDemain)

PEPs are compliant with XP C08-100-1:2016 or EN 50693:2019
The elements of the present PEP cannot be compared with elements from another program.

Document in compliance with ISO 14025 : 2006 « Environmental labels and declarations. Type Il environmental declarations »

Nota :

The picture has no contractual value.

All numerical values indicated in this document may vary and depend of many factors such as the tolerance related to materials, the usage and environment conditions of the products, installation characteristics ... , real values for a product in a concrete
application may therefore change.

The usage time mentioned in this document is an average duration chosen for the need of the calculations. This value cannot be assimilated to the minimum, average or real life time.

The responsibility of the company, issuing this document, can never be engaged if differences would be noticed between the values given by this document and real ones, whatever the causes and/or consequences would be.

PEP ecopassport 4/5 HAGE-01472-V01.01-EN



Appendix

(PEF-GWPY) - [kg CO2 eq.]
non-cancer (PEF-CTUh-nc) - [CTU]

ation (PEF-AP) - [mole H+ eq ]
Land use (PEF-LU)

Exported energy - [MJ]

Total primary energy - [MJ]

Climate change - Total (PEF-GWP) - [kg CO2 eq]
mate change-Biogenic (PEF-GWPb) - [kg CO2 eq.]
Climate change-Foss
Components for re-use - [kg]

Ecotoxicity, freshwater (PEF-CTUe) - [CTUe]
Eutrophication, freshwater (PEF-Epf) - [kg P eq.]
Eutrophication, marine (PEF-Epm) - [kg N eq.]
Eutrophication, terrestrial (PEF-Ept) - [mole of N eq.]
Hazardous waste disposed - [kg]

Human toxicity, cancer (PEF-CTUh-c) - [CTUh]

Human toxi
Materials for energy recovery - [kg]
Materials for recycling - [kg]
Net use of fresh water - [m3]
Non hazardous waste disposed - [kg]

Non renewable primary energy used as energy - [MJ]
Ozone depletion (PEF-ODP) - [kg CFC-11 eq.]
EF-particulate Matter (PEF-PM) - [Incidence of diseases]
Radioactive waste disposed - [kg]
Renewable primary energy used as energy - [MJ]
Renewable primary energy used as raw material - [MJ]
Resource use, fossils (PEF-ADP) - [MJ]
Resource use, minerals and metals
(PEF-ADPe)- [kg Sb eq]

non renewable primary energy - [MJ]
Total renewable primary energy - [MJ]
Use of non renewable secondary fuels - [MJ]
Use of renewable secondary fuels - [MJ]
Use of secondary material - [kg]
Water use (PEF-WU) - [m3 eq.]

lonising radiation, human health (PEF-IR) - [kg Bq U235 eq.]
Non renewable primary energy used as raw material

Climate change-Land use and land use change (PEF-GWPIu) - [kg CO2 eq.]
Photochemical ozone formation - human health (PEF-POCP) - [kg of NMVOC eq]

==
£ 3 | waksotown [ [ R e e e e R e e ssseor| o] rosar| roreanf ssocor| ssweeo| rsear] srea| soss| sreos| oo ariew]| roreor] wen] zoan] zuor| 2vreeor| seseen] oo 2sseor| soen
T O
= & | wAK5010BM
£ 5010 araeas) zoeoo| sssearf arueen] aseos] oomero] ran] wsss| rea| o] omern] careec] seea| sreas ssseor| o] rosar| roreanf ssecor| ssmeeo| roear] srea| soss] srieos| oo arew]| roreor] wn] zoan] zior| sveo| sueen| oo 2sseor] son
= 0
7 IEROI - ceco| o] somo| o] somea] osse| asscor| soseon| asmcon| soncon| oveo] asteon| soeon] smen| suear] somos osorn sesw| ssios| visen| ameor| o] ssenf soenf oeof veon] view| oomon] ameo| somin| ameer] smon] s oo oo ose| sreeor
o3
PSR -oocoo| 1orece] osmeos| voce] 2oma| o] asseor] soseon] wssecn) woneas| o] ssieas| soiere] swoen] suseas] roeon] o] zosere] ssicos] susewm| 2rmeo| woceuso] romrof zvesof isseos] srsen] 1uew] woeso] zrmean| someas| arseor] 2seo] suew) aooeiso] oooeeso| ooro| srseos
c
Rl RGO o] owcorf srseae] srear] sseo] oomeo] sean] ssear| soon| soreo] oomeo] ssi] waeio] o] arseas| sreas| soma] 2] sseas] rosef sveor] oweew] srmen] sszeo] woseas| zseas| srearf oweon] sweo] srew] soea| soeor] svesw| o) aoceo] s
B =
c ©
= MZVERIETI vocof oc| srmccr| srecr] ssero] ooem| suscorf swcor] ssmeos] soreon] oooem| avsar| sasar] vico] sruew] smew| sema] zowar] o] o] soco| oomo] srero] wseio] socos| 2socr] srec] oomo] ssear| ares| sveor| suof svew| ool aoueo] s
o
o | RENCR VI :ece] someon| vieorf suscin] s2eo] osmero] roeiso] roseas| 2| arrece] ooero] somecr| woseio] receo| wrieso| srscn] osnern] assewr] ssiew| wiean| visie] omern| susen] soreor] soee] voean] | osoesn] srsere] sasecs] 1suene] sotenie] roamern| osoesn| osmesn] osvern] zasen
S m
PRI - o] soomeo] 1| suen] raear| ooomn| roseen] soseos] zriew)| wvre] o] 2oseor| asseos] sozeon] srieno] soaei] o] arsear] ssicas] suser| vrsene] woveuio] suwan| romar| ssicor| ssieo] reseic| novesso] visee] 1zeas| srseve] sorene] rezeic| aoceuso] eeso| oorn| 2zen
T s
2 O | waksotown [N e e R P P R e N R e R e e e T I e T e e aoceo] svieon
i
MZVERIEI xcof 1aeo| sema| vrean] ssro] oooen| sreen] auseos] vaseos] wscean] ovocn| sseae] o] sureos] asseao] roen| ovorn| 1oz ssseos] o] ooeto] rson| sareon] asocor] sireos) rosen] aoceeo sssear| o] rseso] roseon| osecon aoceo] svieon
>0
[ZNEIIIYI o] +eor] wsreo] sean] oooeon| oooevn| ssoer] r7seos] ssmead] sess| osoean| osoesn] soseon] 1siecs] 2sreas] 2aeuso] aorein| osevcn] 2ssesn] oaveso] 1aveio] soveuso] smes| sosean| asseor] osoesn] sruec| aovesso] 1zeuan| svean| 1zvein] 1rreno] sruer] aooesso] acoeeso| aoreiof 1ce
2
= WAK5010BM [T e e e e R R T, 2azeso] osieso] corewo] -2sevso] aooin| 1zomson] oameso] ssseco] rotese] assean] oeein| smeor| ooneso] 1atewo] suese] 1tso] sresn| smeor| oseso] corewo] soteo] -rooei

PEP ecopassport 5/5 HAGE-01472-V01.01-EN



